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As questions are based on previous year papers, there are chances that candidates will find
many questions from the Geometry Questions with Answers PDF in all . Download free pdf
worksheets with model problems, practice problems, and challenge questions on various
trigonometry topics. Each worksheet has an answer key and covers law of sines and cosines,
SOHCAHTOA, inverse trig functions, and more. Nov 16, · As questions are based on previous
year papers, there are chances that candidates will find many questions from the Geometry
Questions with Answers PDF in all competitive Exams. If you check the last year’s papers of
SSC, Railways and Banking Exams, you will find that many different types of Trigonometry
questions are asked. The minimum and the maximum of a trigonometric function are shown in
the diagram. The length of arc swept out by an angle θ is 50 cm. If the radius of the circle is 18
cm, determine the measure of θ in radians. 3 + π ⎞ ⎟ + 1 is illustrated below. 4 ⎠ Determine the
exact values of g, h, m & n. Trigonometry Test Questions: 1. For all x, sin(2x) = 2sinx. True or
False 2. tan π 3 = √ 3 True or False 3. If θ is in the second quadrant, then p 1−sin2 θ = −cosθ.
True or False 4. The number of solutions to the equation 2sin2 x−sinx−1 = 0 in the interval 0 ≤
x ≤ 2π is A. 1 B. 2 C. 3 D. 4 5. If sinx = 3 4 and cosx < 0, then. The minimum and the
maximum of a trigonometric function are shown in the diagram. The length of arc swept out by
an angle θ is 50 cm. If the radius of the circle is 18 cm, determine the measure of θ in radians.
3 + π ⎞ ⎟ + 1 is illustrated below. 4 ⎠ Determine the exact values of g, h, m & n. QUESTION 10
If sin 28° = a and cos 32°= b, determine the following in terms of a and/or b: cos28q (2)
cos64q (3) sin 4° (4) Prove without the use of a calculator, that if sin 28° = a and cos 32° = b,
then 2 1 b 1 a a 1 b2. (4) Evaluate each of the following without using a calculator.


